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1. µÛ×µÛÛ¾ÛÛ× ›Ûé”Û¾Û ©Û¬ÛÛ …Ü¶ÛÜÊ˜Û©Û©ÛÛ¶ÛÛ ”ýÛÛÅÛÛé ÍÛ¾Û›ÛÈÛÛé. µÛ×µÛÛ¾ÛÛ× ÁõÐéüÅÛÛ ›Ûé”Û¾ÛïõÛÁõà Ü¶Û¨ÛÙýÛÛé¶ÛÛ 
ÜÈÛÊÅÛéÌÛ¨Û ¾ÛÛ¤éø¶ÛÛ ¸Û•ÛÜ¬ÛýÛÛ× ÍÛ¾Û›ÛÈÛÛé. 14 

 Explain the concepts of risk and uncertainty in business. Explain the steps involved in 
the analysis of risky decisions. 

…¬ÛÈÛÛ/OR 

 (a) µÛ×µÛÛ¾ÛÛ× ›Ûé”Û¾Û Œ½ÛÛ ¬ÛÈÛÛ¶ÛÛ ïõÛÁõ¨ÛÛé ÍÛ¾Û›ÛÈÛÛé. 
  Explain the reasons for risk in business. 

 (b) ÈýÛÜî©ÛÅÛ“Ûà ©Û¬ÛÛ ÈÛÍ©ÛäÅÛ“Ûà ÍÛ×½ÛÛÈÛ¶ÛÛ¶ÛÛ ”ýÛÛÅÛÛé ÍÛ¾Û›ÛÈÛÛé. 
  Explain the concepts of subjective and objective probability. 
 

2. Š²Ûé•Û¶ÛÛ Í¬ÛÛ¶ÛàïõÁõ¨Û ¾ÛÛ¤éø¶ÛÛ ¸ÛÜÁõ¼ÛÇÛé ïõýÛÛ ™öé ? …Û ÍÛ×þù½ÛÙ¾ÛÛ× ÈÛé¼ÛÁõ¶ÛÛé ÜÍÛ±ùÛ×©Û ÍÛ¾Û›ÛÈÛÛé. 14    
 What are the factors for location of an industry ? In this context, explain Weber’s 

principle. 
…¬ÛÈÛÛ/OR 

 (a) ›ÛÐéüÁõ “ÛéªÛ¾ÛÛ× Š©¸ÛÛþù¶Û ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛ©Ûà ÈÛÍ©Ûä…Ûé ¾ÛÛ¤éø¶Ûà ÍÛà¾ÛÛ×©Û ”Û˜ÛÙ Ýïõ¾Û©Û ¸Û±ùÜ©Û ÍÛ¾Û›ÛÈÛÛé. 
  Explain the marginal cost pricing method for goods produced in public sector. 

 (b) ÁõÛ¾ÛÍÛé Ýïõ¾Û©Û ¸Û±ùÜ©Û ÍÛ¾Û›ÛÈÛÛé. 
  Explain Ramsey price method. 
 

3. ÍÛ¾Û©Ûä¤ø ÜÈÛÊÅÛéÌÛ¨Û¶ÛÛé ”ýÛÛÅÛ Í¸ÛÌ¤ø ïõÁõà ©Ûé¶Ûà ¾Ûþùþù¬Ûà ˜ÛÛé‘õÍÛ ¶ÛºõÛé ¸ÛóÛ¸©Û ïõÁõÈÛÛ¶Ûä× …ÛýÛÛé›÷¶Û ïéõÈÛà Áõà©Ûé 
¬Ûˆ ÉÛïéõ ©Ûé ÍÛ¾Û›ÛÈÛÛé. 14  

 Clarify the concept of break-even analysis and explain how definite profit goal can be 
planned with its help. 

…¬ÛÈÛÛ/OR 

 (a) ¾ÛÛ×•Û …¶Ûé ¸ÛæÁõÈÛ¥øÛ¶Ûà ¾ÛæÅýÛÍÛÛ¸Ûé“Û©ÛÛ¶ÛÛ …ÛµÛÛÁéõ …Û¼ÛïõÛÁõà ›÷ïõÛ©Û¶ÛÛ ¼ÛÛé›Û¶Ûà •ÛóÛÐüïõ …¶Ûé 
ÈýÛÛ¸ÛÛÁõà ÈÛ˜˜Ûé ¬Û©Ûà ÈÛÐêü˜Û¨Ûà …ÛïèõÜ©Û¶Ûà ¾Ûþùþù¬Ûà ÍÛ¾Û›ÛÈÛÛé. 

  Explain with the help of diagram, the distribution of burden of excise tax between 
consumer and seller on the basis of elasticity of demand and supply. 

 (b) Í¬ÛÛÈÛÁõ ÍÛ×¸ÛÜ«Û Š¸ÛÁõ ÍÛ×¸ÛÜ«Û ÈÛéÁõÛ¶Ûà …ÍÛÁõ ÍÛ¾Û›ÛÈÛÛé. 
  Explain the effect of property tax on immovable property. 
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4. Áõ¾Û©Û¶ÛÛ ÜÍÛ±ùÛ×©Û¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× ïõÛéˆ¸Û¨Û ¼Ûé ¸ÛóÊ¶ÛÛé¶ÛÛé ›÷ÈÛÛ¼Û …Û¸ÛÛé : 14 

 Answer any two of the following questions in the context of the game theory :  

 (1) Áõ¾Û©Û¶ÛÛ× ÜÍÛ±ùÛ×©Û¶ÛÛé …¬ÛÙ …Û¸Ûà ©Ûé¶Ûà µÛÛÁõ¨ÛÛ…Ûé ›÷¨ÛÛÈÛÛé. 

  Give meaning of game theory and state its assumptions. 

 (2) Áõ¾Û©Û¶ÛÛ× ÜÍÛ±ùÛ×©Û¶ÛÛ ¶Ûà˜Ûé¶ÛÛ ”ýÛÛÅÛÛé ÍÛ¾Û›ÛÈÛÛé : 

  Explain the following concepts of game theory : 

  (a) ÉÛä±ù ÈýÛæÐüÁõ˜Û¶ÛÛ  

   Pure strategy 

  (b) Ü¾ÛËÛ ÈýÛæÐüÁõ˜Û¶ÛÛ  

   Mixed strategy 

  (c) ÈÛÇ©ÛÁõ ËÛéÜ¨Ûïõ  

   Pay-off Matrix 

  (d) ¸ÛÅÛÛ¨ýÛ Ý¼Ûþä  

   Saddle point 

 (3) ¼Ûé ¸Ûé§øà…Ûé X …¶Ûé Y ¾ÛÛ¤éø¶Ûä× ÈÛÇ©ÛÁõ ËÛéÜ¨Ûïõ ¶Ûà˜Ûé …Û¸ÛéÅÛ ™öé. ¸ÛÅÛÛ¨ýÛ Ý¼Ûþäù ÉÛÛéµÛÛé : 

  µÛÛÁõ¨ÛÛ :  X ¾ÛÐü«Û¾Û ïõÁõ¶ÛÛÁõà ¸Ûé§øà ™öé. 

     Y ¶ýÛæ¶Û©Û¾Û ïõÁõ¶ÛÛÁõà ¸Ûé§øà ™öé. 

     X …¶Ûé Y ¶Ûä× ÈÛÇ©ÛÁõ ËÛéÜ¨Ûïõ 

   ¸Ûé§øà Y ¶Ûà ÈýÛæÐüÁõ˜Û¶ÛÛ…Ûé 

¸Ûé§øà X ¶Ûà ÈýÛæÐüÁõ˜Û¶ÛÛ…Ûé Y1 Y2 Y3 

X1 4 36 8 

X2 32 20 16 

  Pay-off Matrix for two firms X and Y is given below : Find saddle point. 

  Assumption : X is a maximiser 

             Y is a minimiser 

         Pay-off matrix of X and Y 

Firm Y’s Strategies 

Firm X’s Strategies Y1 Y2 Y3 

X1 4 36 8 

X2 32 20 16 

…¬ÛÈÛÛ/OR 
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 (a) ÍÛäÁéõ”Û …ÛýÛÛé›÷¶Û¶ÛÛé …¬ÛÙ ÍÛ¾Û›ÛÈÛà ©Ûé¶Ûà µÛÛÁõ¨ÛÛ…Ûé ›÷¨ÛÛÈÛÛé. 

  Explain the meaning of linear programming and state its assumptions. 

 (b) …ÛÅÛé”Û ¸Û±ùÜ©Û¶Ûà ¾Ûþùþù¬Ûà ¶Ûà˜Ûé¶Ûà ÍÛäÁéõ”Û …ÛýÛÛé›÷¶Û¶Ûà ÍÛ¾ÛÍýÛÛ¶ÛÛé ŠïéõÅÛ ¾ÛéÇÈÛÛé : 

    Z = 5x + 3y ¾ÛÐü«Û¾Û ïõÁõÛé. 

         ¸ÛóÜ©Û¼Û×µÛÛé : 2x + 3y = 6 

      2x + 1y = 4 

      x  0, y  0 

  Obtain the solution for the following linear programming problem with the help of 

graph : 

   Maximize Z = 5x + 3y 

   Subject to :  2x + 3y = 16 

       2x + 1y = 4 

       x  0, y  0 
 
5. ¶Ûà˜Ûé …Û¸ÛéÅÛÛ þùÁéõïõ ¸ÛóÊ¶Û ¾ÛÛ¤éø ËÛéÌ¥ø Š«ÛÁõ ¸ÛÍÛ×þù ïõÁõà ©Û¾ÛÛÁõà Š«ÛÁõÈÛÐüà¾ÛÛ× ¾ÛÛªÛ ©Ûé¶ÛÛé ¶Û×¼ÛÁõ ÅÛ”ÛÛé : 14 

 Choose the best answer for each of the following questions and write only its number in 
the answer book :  

 (1) šýÛÛÁéõ µÛ×µÛÛïõàýÛ Ü¶Û¨ÛÙýÛ¾ÛÛ× …éïõ ïõÁõ©ÛÛ× ÈÛµÛÛÁéõ ¸ÛÜÁõ¨ÛÛ¾Û …ÛÈÛÈÛÛ¶Ûà ÉÛîýÛ©ÛÛ ÐüÛéýÛ …¶Ûé ©Ûé þùÁéõïõ 
¸ÛÜÁõ¨ÛÛ¾Û¶Ûà ÍÛ×½ÛÛÈÛ¶ÛÛ •Û¨Ûà ÉÛïõÛýÛ ©ýÛÛÁéõ ©Ûé _________ ïõÐéüÈÛÛýÛ ™öé. 

  (a) ˜ÛÛé‘õÍÛ©ÛÛ (b) Ü¶ÛÜÊ˜Û©Û©ÛÛ 
  (c) …˜ÛÛé‘õÍÛ©ÛÛ (d) ›Ûé”Û¾Û  

  In a business decision, when there is possibility of more than one outcome and it is 
possible to calculate probability for each of them, it is called  

  (a)  Certainty  (b)  Definiteness 

  (c)  Uncertainty  (d)  Risk 
 

 (2) Ü¶ÛýÛÛé›÷ïéõ µÛ×µÛÛ¾ÛÛ× Ü¶Û¨ÛÙýÛ ÅÛé©Ûà ÈÛ”Û©Ûé ›÷é ¸ÛÜÁõÜÍ¬ÛÜ©Û ÍÈÛàïõÛÁõà¶Ûé ˜ÛÛÅÛÈÛä× ¸Û¦éø ™öé ©Ûé ïõÐéüÈÛÛýÛ ™öé. 
  (a) Ü¶ÛýÛ×ÜªÛ©Û ¸ÛÜÁõÜÍ¬ÛÜ©Û  

  (b) …ÍÈÛàïõÛýÛÙ ¸ÛÜÁõÜÍ¬ÛÜ©Û 
  (c) ïäõþùÁõ©Ûà ¸ÛÜÁõÜÍ¬ÛÜ©Û  

  (d) Š¸ÛÁõ¶ÛÛ …éïéõýÛ ¶ÛÜÐü  

  In a business decision, the conditions that an entrepreneur has to accept is called 

  (a) Controlled conditions  

  (b) Unacceptable condition 

  (c) State of nature  

  (d) None of the above 
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 (3) ¶Ûà˜Ûé¶ÛÛ¾ÛÛ×¬Ûà µÛ×µÛÛ¾ÛÛ× ›Ûé”Û¾Û Œ½Ûä ¬ÛÈÛÛ¶ÛÛ ïõÛÁõ¨Û ïõýÛÛ ÐüÛéˆ ÉÛïéõ ? 

  (a) ÐüÜÁõºõÛˆ¾ÛÛ× ÈÛµÛÛÁõÛé (b) ¶ÛÈÛà ºéõÉÛ¶Û 
  (c) ©Ûïõ¶Ûàïõà ºéõÁõºõÛÁõÛé (d) Š¸ÛÁõ¶ÛÛ ¼ÛµÛÛ ›÷  
  Which of the following can be reasons for risk to business ? 
  (a) Increase in competition (b) New fashion 
  (c) Technological changes (d) All of the above 
 

 (4) ¶ÛÈÛÛ ÍÛÛ¾ÛÛœ÷ïõ ¸ÛóÛé›÷éî¤ø¾ÛÛ× ÁõÐéüÅÛÛ× ›Ûé”Û¾Û¶Ûà •Û¨Û©ÛÁõà ¾ÛÛ¤éø ÉÛé¶ÛÛé Š¸ÛýÛÛé•Û ¬Ûˆ ÉÛïéõ ? 
  (a) ÍÛ×½ÛÛÈÛ¶ÛÛ¶ÛÛé  
  (b) …¸ÛéÜ“Û©Û ¶ÛÛ¨ÛÛ×ïõàýÛ ÈÛÇ©ÛÁõ¶ÛÛé 
  (c) ¸Ûó¾ÛÛÜ¨Û©Û ÜÈÛ˜ÛÅÛ¶Û¶ÛÛé   
  (d) Š¸ÛÁõ¶ÛÛ (b) …¶Ûé (c) ¼Û×¶Ûé¶ÛÛé  
  What can be used for calculating risk in a new project ? 
  (a) Probability  
  (b) Expected monetary return 
  (c) Standard deviation  
  (d) Both (b) and (c) above 
 

 (5) …éïõ ¶ÛÈÛà ÍÛÛ¾ÛÛœ÷ïõ ¸ÛÜÁõýÛÛé›÷¶ÛÛ¶ÛÛ ½ÛÜÈÛÌýÛ¾ÛÛ× ¬Û¶ÛÛÁõÛ ÅÛÛ½Û …¶Ûé ”Û˜ÛÙ¶Ûä× …©ýÛÛÁõ¶Ûä× ¾ÛæÅýÛ •Û¨ÛÈÛÛ 
¾ÛÛ¤éø¶Ûà ¸Û±ùÜ©Û …é¤øÅÛé 

  (a) ”Û˜ÛÙ-ÅÛÛ½Û •Ûä¨ÛÛé«ÛÁõ  
  (b) ÍÛÛ¾ÛÛœ÷ïõ ÈÛ¤øÛÈÛ þùÁõ 
  (c) ÍÛÛ¾ÛÛœ÷ïõ ”Û˜ÛÙ - ÅÛÛ½Û •Ûä¨ÛÛé«ÛÁõ   
  (d) ÈÛ¤øÛÈÛ þùÁõ •Ûä¨ÛÛé«ÛÁõ 
  The method for calculating current value of the flow of benefits and costs of a new 

social project in future is 
  (a) Cost - benefit ratio  
  (b) Social discount rate 
  (c) Social cost - benefit ratio  
  (d) Discount rate ratio 
 

 (6) ›ÛÐéüÁõ ÍÛéÈÛÛ…Ûé ¾ÛÛ¤éø –Û¨ÛàÈÛÛÁõ Ýïõ¾Û©Û, ÍÛà¾ÛÛ×©Û ”Û˜ÛÙ ïõÁõ©ÛÛ× …Ûé™öà ÅÛéÈÛÛ¾ÛÛ× …ÛÈÛé ™öé. ïõÛÁõ¨Û ïéõ 
©Ûé¾ÛÛ× 

  (a) ¼ÛÛÔ ÅÛÛ½Û ÁõÐéüÅÛÛé ÐüÛéýÛ ™öé.  
  (b) ©Ûé¶ÛÛé ÈÛµÛä ¸Û¦ø©ÛÛé Š¸ÛýÛÛé•Û ¬Û©ÛÛé ÐüÛéýÛ ™öé. 
  (c) ©Ûé ÈÛµÛä ”Û˜ÛÛÙÇ ÐüÛéýÛ ™öé.  
  (d) Š¸ÛÁõ¶ÛÛ …éïéõýÛ ¶ÛÜÐü.  
  For public utilities, many-a-times the price charged is lower than marginal cost 

because of 
  (a) External benefit in it  
  (b) It is over utilised 
  (c) It is very costly  
  (d) None of the above 
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 (7) ›ÛÐéüÁõ ÍÛéÈÛÛ…Ûé ¾ÛÛ¤éø ÍÛà¾ÛÛ×©Û-”Û˜ÛÙ Ýïõ¾Û©Û ¸Û±ùÜ©Û¶Ûà ÜÐü¾ÛÛýÛ©Û ÉÛÛ ¾ÛÛ¤éø ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 

  (a) ©Ûé¶ÛÛ¬Ûà …ÛÜ¬ÛÙïõ ÍÛä”ÛÛïõÛÁõà¾ÛÛ× ÈÛµÛÛÁõÛé ¬ÛÛýÛ ™öé. 

  (b) ©Ûé ËÛéÌ¥ø ¸Û±ùÜ©Û ™öé. 

  (c) ©Ûé¶ÛÛ¬Ûà Š©¸ÛÛþù¶Û ”Û˜ÛÙ –Û¤éø ™öé. 

  (d) ©Ûé¶ÛÛ¬Ûà …ÛÈÛïõ¾ÛÛ× ÈÛµÛÛÁõÛé ¬ÛÛýÛ ™öé.  

  Why marginal cost pricing method is recommended for public utilities ? 

  (a) It increases economic welfare  

  (b) It is the best method 

  (c) It reduces production cost  

  (d) It increases income 

 

 (8) …éïõ ïõÁõ©ÛÛ× ÈÛµÛä ÈÛÍ©Ûä…Ûé¶Ûä× Š©¸ÛÛþù¶Û ïõÁõ©Ûà ¸Ûé§øà ïéõ šýÛÛ× ÍÛÛ¾ÛÛ¶ýÛ ”Û˜ÛÙ –Û¨Ûä× ÈÛµÛÛÁéõ ÐüÛéýÛ ™öé ©ýÛÛ× 
ËÛéÌ¥ø Ýïõ¾Û©Û ¸Û±ùÜ©Û ïõˆ ™öé ? 

  (a) ÍÛÁéõÁõÛÉÛ - ”Û˜ÛÙ Ýïõ¾Û©Û ¸Û±ùÜ©Û  

  (b) ÍÛà¾ÛÛ×©Û - ”Û˜ÛÙ Ýïõ¾Û©Û ¸Û±ùÜ©Û  

  (c) ÁõÛ¾ÛÍÛé Ýïõ¾Û©Û ¸Û±ùÜ©Û  

  (d) ïäõÅÛ-”Û˜ÛÙ Ýïõ¾Û©Û ¸Û±ùÜ©Û   

  For a firm producing multiproducts where the common cost is very high, which is 
the best price system ? 

  (a) Average cost pricing method  

  (b) Marginal cost pricing method 

  (c) Ramsey pricing method  

  (d) Total cost pricing method 

 

 (9) ÈÛé¼ÛÁõ¶ÛÛ ¾Û©Ûé Š²Ûé•Û¶Ûä× Í¬ÛÛ¶Û ¶Û‘õà ïõÁõ©ÛÛ× ¼Ûé ¾Ûä”ýÛ ”Û˜ÛÙ ™öé. 

  (a) ¾Ûæ¦øà …¶Ûé ËÛ¾Û ”Û˜ÛÙ  

  (b) ÈÛÛÐü¶ÛÈýÛÈÛÐüÛÁõ …¶Ûé ËÛ¾Û ”Û˜ÛÙ 

  (c) ËÛ¾Û …¶Ûé ›÷¾Ûà¶Û ”Û˜ÛÙ  

  (d) ïõÛ˜ÛÛé ¾ÛÛÅÛ …¶Ûé ¾Ûæ¦øà ”Û˜ÛÙ  

  According to Weber, two most important costs for deciding location of an industry 
are 

  (a) Capital and labour costs 

  (b) Transportation and labour costs 

  (c) Labour and land costs 

  (d) Raw-material and capital costs 
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 (10) ÍÛ¾Û©Ûä¤ø ÜÈÛÊÅÛéÌÛ¨Û¶ÛÛé Š¸ÛýÛÛé•Û ÉÛé¶ÛÛ ¾ÛÛ¤éø ¬Ûˆ ÉÛïéõ ? 

  (a) Š©¸ÛÛþù¶Û Í©ÛÁõ ¶Û‘õàõ ïõÁõÈÛÛ  

  (b) Ü¶ÛÜÊ˜Û©Û ¶ÛºõÛé ¸ÛóÛ¸©Û ïõÁõÈÛÛ 

  (c) ¸Ûé§øà¶ÛÛé µýÛéýÛ ¶Û‘õà ïõÁõÈÛÛ  

  (d) Š¸ÛÁõ¶ÛÛ (a) …¶Ûé (b) ¼Û×¶Ûé   

  For what purpose break even analysis can be used ? 

  (a) To decide level of output 

  (b) To achieve targeted profit 

  (c) To decide the goal of the firm 

  (d) Both (a) and (b) above 

 

 (11) ÍÛ¾Û©Ûä¤ø Ý¼Ûþäù ¶Û‘õà ïõÁõÈÛÛ ¾ÛÛ¤éø ¾Ûä”ýÛ ÉÛé¶ÛÛé Š¸ÛýÛÛé•Û ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 

  (a) ïäõÅÛ ”Û˜ÛÙ – ïäõÅÛ …ÛÈÛïõ Áéõ”ÛÛ…Ûé¶ÛÛé  

  (b) ÜÍ¬ÛÁõ ”Û˜ÛÙ – ïäõÅÛ …ÛÈÛïõ¶ÛÛé 

  (c) ïäõÅÛ ”Û˜ÛÙ – ¶ÛºõÛ¶ÛÛé  

  (d) ïäõÅÛ …ÛÈÛïõ – ïäõÅÛ Š©¸ÛÛþù¶Û¶ÛÛé  

  What is mainly used to decide break-even-point ? 

  (a) Total Cost – Total Revenue Curves 

  (b) Fixed Cost – Total Revenue 

  (c) Total Cost – Profit 

  (d) Total Income – Total Production 

 

 (12) …Û¼ÛïõÛÁõà ›÷ïõÛ©Û¶ÛÛé ¶ÛÛ¨ÛÛ×ïàýÛ ¼ÛÛé›Ûé •ÛóÛÐüïõÛé …¶Ûé ÈÛé˜Û¶ÛÛÁõ Š¸ÛÁõ ïéõ¤øÅÛÛé ¸Û¦øÉÛé ©Ûé¶ÛÛé …ÛµÛÛÁõ ™öé.  

  (a) ¾ÛÛ×•Û ¸ÛæÁõÈÛ¥øÛ Áéõ”ÛÛ…Ûé Š¸ÛÁõ  

  (b) ¾ÛÛ×•Û …¶Ûé ¸ÛæÁõÈÛ¥øÛ¶Ûà ¾ÛæÅýÛÍÛÛ¸Ûé“Û©ÛÛ Š¸ÛÁõ 

  (c) ¾ÛÛ×•Û …¶Ûé ¸ÛæÁõÈÛ¥øÛ Áéõ”ÛÛ…Ûé¶ÛÛ §øÛÇ Š¸ÛÁõ  

  (d) Š¸ÛÁõ¶ÛÛ (b) …¶Ûé (c) ¼Û×¶Ûé  

  How much of monetary burden of Excise tax will fall on consumer and on seller 
depends on ? 

  (a) Demand-supply curves 

  (b) Elasticity of demand and supply 

  (c) Slopes of demand and supply curves 

  (d) Both (b) and (c) above 
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 (13) Áõ¾Û©Û¶ÛÛ ÜÍÛ±ùÛ×©Û¶ÛÛé Š¸ÛýÛÛé•Û ¾Ûä”ýÛ©ÈÛé ïõýÛÛ ¼Û›ÛÁõ¾ÛÛ× ÅÛÛ•Ûä ¸ÛÛ¦øà ÉÛïõÛýÛ ? 

  (a) ¸Ûæ¨ÛÙ ÐüÜÁõºõÛˆÈÛÛÇÛ ¼Û›ÛÁõ¾ÛÛ×  

  (b) ˆ›ÛÁõÛ¾ÛÛ× 
  (c) …Å¸ÛÐüï-©Ûïõ ˆ›ÛÁõÛ¾ÛÛ×  

  (d) ˆ›ÛÁõÛýÛäî©Û ÐüÜÁõºõÛˆ¾ÛÛ×  

  In which market the principles of game theory can be applied ? 

  (a) Perfectly competitive market  

  (b) Monopoly 

  (c) Oligopoly  

  (d) Monopolistic competition 

 

 (14) ÍÛäÁéõ”Û …ÛýÛÛé›÷¶Û ¸Û±ùÜ©Û ¶Ûà ¾Ûä”ýÛ µÛÛÁõ¨ÛÛ…Ûé ™öé ïéõ   

  (a) ˜ÛÅÛÁõÛÉÛà…Ûé ÜÍ¬ÛÁõ ÁõÐéü ™öé.  

  (b) ˜ÛÅÛÁõÛÉÛà…Ûé ÈÛ˜˜Ûé ÍÛäÁéõ”Û ÍÛ×¼Û×µÛ ™öé. 
  (c) ˜ÛÅÛÁõÛÉÛà…Ûé ÈÛ˜˜Ûé Ü¼Û¶Û ÍÛäÁéõ”Û ÍÛ×¼Û×µÛ ™öé.  
  (d) ˜ÛÅÛÁõÛÉÛà…Ûé ÈÛ˜˜Ûé ïõÛéˆ ÍÛ×¼Û×µÛ ¶Û¬Ûà.  

  The main assumption of linear programming method is 

  (a) Variables are constant. 

  (b) There is linear relationship between variables. 

  (c) There is non-linear relationship between variables. 

  (d) There is no relationship between variables. 

 

____________ 
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